

A CLASS OF UNIVALENT FUNCTIONS WITH POSITIVE COEFFICIENTS ASSOCIATED WITH THE CONVOLUTION STRUCTURE

K.K. Dixit, Department of Mathematics, Janta College, Bakewar, Etawah-206124 (U.P.)
Email: kk.dixit@rediffmail.com

Ankit Dixit, Department of Physical Sciences, M.G.C.G.V.Chitrakoot-485780, (M.P.)
Email: ankitdixit.aur@gmail.com

Saurabh Porwal, Department of Mathematics, UIET, CSJM University Kanpur-208024 (U.P.)
Email: saurabhjcb@rediffmail.com

Abstract: Making use of convolution structure, we introduce a new class of univalent functions with positive coefficients. Among the results presented in this paper include the coefficient bounds, distortion inequalities, extreme points and integral mean inequalities for this generalized class of functions are studied.

Keywords: Univalent functions, convolution, Salagean derivative.

2010 Mathematics Subject Classification: 30 C 45, 30 C 50.

1. Introduction

Let \mathcal{A} denote the class of functions of the form

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k, \quad (a_k \geq 0) \quad (1)$$

which are analytic and univalent in the open unit disc $U = \{z : z \in \mathbb{C} \text{ and } |z| < 1\}$.

Given two functions disc $f, g \in \mathcal{A}$, where f is given by (1) and g is given by

$$g(z) = z + \sum_{k=2}^{\infty} b_k z^k, \quad (b_k \geq 0),$$

The Hadamard product (or convolution) $f * g$ is defined by

$$(f * g)(z) = z + \sum_{k=2}^{\infty} a_k b_k z^k = (g * f)(z), \quad z \in U.$$

Salagean [14] introduced the following operator which is popularly known as the Salagean derivative operator :

$$\begin{aligned} D^0 f(z) &= f(z) \\ D^1 f(z) &= Df(z) = zf'(z) \end{aligned}$$

and in general,

$$D^n f(z) = D(D^{n-1} f(z)) (n \in N_0 = N \cup \{0\}).$$

We easily find from (1) that

$$D^n f(z) = z + \sum_{k=2}^{\infty} k^n a_k z^k \quad (f \in \mathcal{A}; n \in N_0). \quad (2)$$

We now introduce a new class $\mathcal{A}_g^*(n, \alpha, \beta)$ of function belonging to the class \mathcal{A} which consist of functions $f(z)$ of the form (1) satisfying the following inequality:

$$\begin{aligned} \operatorname{Re} \left\{ \frac{(1-\beta)D^{n+1}(f * g)(z) + \beta D^{n+2}(f * g)(z)}{(1-\beta)D^n(f * g)(z) + \beta D^{n+1}(f * g)(z)} \right\} \\ < \alpha \quad \left(0 \leq \beta \leq 1, 1 < \alpha \leq \frac{4}{3}, n \in N_0 \right) \end{aligned} \quad (3)$$

Remark1. If we put $g(z) = \frac{z}{1-z}$ and $n = 0, \beta = 0$ we get the class $V(\alpha)$ studied by Uralegaaddi etc [19], if we put $g(z) = \frac{z}{1-z}$ and $n = 0, \beta = 1$ we get the class $U(\alpha)$ studied by Uralegaaddi etc [19].

Remark2. If we put $g(z) = \frac{z}{1-z}$ and $\beta = 0$ we get the class studied by Dixit and Chandra [8].

Note that in [6] Dixit, Porwal and A. Dixit have also studied the univalent function with positive coefficient by the use of Salagean operator.

Several authors such as ([1-5,7,9],[11],[12],[15-18]) studied the classes of star like and convex functions with negative coefficients only. In the present paper analogues to these results an attempt has been made to study above mentioned classes of functions with positive coefficients associated with the convolution structure defined by Salagean operator. It is worthy to note that, a family of analytic univalent functions related to uniformly star like and uniformly convex functions with positive coefficient in the open unit disc U have been extensively studied by Porwal and Dixit [13].

In fact by taking Salagean operator and convolution structure, we have to made a unified study for the classes introduced by Uralegaddi etc.[19] several properties like coefficient bounds, distortion theorem, theorem involving extreme points and integral means inequalities for this generalized class of functions have been studied.

2. Main Result

The following theorem lays the foundation of our systematic study of the class $\mathcal{A}_g^*(n, \alpha, \beta)$ defined in the preceding section.

Theorem 2.1 A function $f(z)$ given by (1.2) is in $\mathcal{A}_g^*(n, \alpha, \beta)$ iff for $0 \leq \beta \leq 1, 1 < \alpha \leq \frac{4}{3}, n \in \mathbb{N}$

$$\sum_{k=2}^{\infty} [(k - \alpha)(1 - \beta + \beta k)]k^n a_k b_k \leq (\alpha - 1). \tag{4}$$

Proof. Assume that $f \in \mathcal{A}_g^*(n, \alpha, \beta)$ then in view of (1.2) to (1.3), we have

$$\begin{aligned} & \operatorname{Re} \left\{ \frac{(1 - \beta)D^{n+1}(f * g)(z) + \beta D^{n+2}(f * g)(z)}{(1 - \beta)D^n(f * g)(z) + \beta D^{n+1}(f * g)(z)} \right\} \\ &= \operatorname{Re} \left\{ \frac{(1 - \beta)z + \sum_{k=2}^{\infty} (1 - \beta)k^{n+1} a_k b_k z^k + \beta(z + \sum_{k=2}^{\infty} k^{n+2} a_k b_k z^k)}{(1 - \beta)z + \sum_{k=2}^{\infty} (1 - \beta)k^n a_k b_k z^k + \beta(z + \sum_{k=2p+1}^{\infty} k^{n+1} a_k b_k z^k)} \right\} \\ &= \operatorname{Re} \left\{ \frac{z + \sum_{k=2}^{\infty} (1 - \beta + k\beta)k^{n+1} a_k b_k z^k}{z + \sum_{k=2}^{\infty} (1 - \beta + k\beta)k^n a_k b_k z^k} \right\} < \alpha \end{aligned}$$

If we choose z to be real and let $r \rightarrow 1^-$

$$\begin{aligned} 1 + \sum_{k=2}^{\infty} (1 - \beta + k\beta)k^{n+1} a_k b_k &\leq \alpha + \alpha \sum_{k=2}^{\infty} (1 - \beta + k\beta)k^n a_k b_k \\ \sum_{k=2}^{\infty} (k - \alpha)(1 - \beta + k\beta)k^n a_k b_k &\leq \alpha - 1 \end{aligned}$$

Conversely assume that (2.1) holds for $f(z) \in \mathcal{A}$, let us define the function $F(z)$ by

$$F(z) = \frac{(1 - \beta)D^{n+1}(f * g)(z) + \beta D^{n+2}(f * g)(z)}{(1 - \beta)D^n(f * g)(z) + \beta D^{n+1}(f * g)(z)}.$$

It suffices to show that

$$\left| \frac{F(z) - 1}{F(z) - (2\alpha - 1)} \right| < 1. \quad (z \in U)$$

We note that

$$\left| \frac{F(z) - 1}{F(z) - (2\alpha - 1)} \right| = \left| \frac{\frac{(1-\beta)D^{n+1}(f * g)(z) + \beta D^{n+2}(f * g)(z)}{(1-\beta)D^n(f * g)(z) + \beta D^{n+1}(f * g)(z)} - 1}{\frac{(1-\beta)D^{n+1}(f * g)(z) + \beta D^{n+2}(f * g)(z)}{(1-\beta)D^n(f * g)(z) + \beta D^{n+1}(f * g)(z)} - (2\alpha - 1)} \right|$$

$$\begin{aligned}
&= \left| \frac{(1-\beta)D^{n+1}(f * g)(z) + \beta D^{n+2}(f * g)(z) - \{(1-\beta)D^n(f * g)(z) + \beta D^{n+1}(f * g)(z)\}}{(2\alpha-1)\{(1-\beta)D^n(f * g)(z) + \beta D^{n+1}(f * g)(z)\} - \{(1-\beta)D^{n+1}(f * g)(z) + \beta D^{n+2}(f * g)(z)\}} \right| \\
&= \left| \frac{\sum_{k=2}^{\infty} (1-\beta+k\beta)k^{n+1}a_k b_k z^k - \sum_{k=2}^{\infty} (1-\beta+k\beta)k^n a_k b_k z^k}{(2\alpha-2)z + (2\alpha-1)\sum_{k=2}^{\infty} (1-\beta+k\beta)k^n a_k b_k z^k - \sum_{k=2}^{\infty} (1-\beta+k\beta)k^{n+1}a_k b_k z^k} \right| \\
&= \left| \frac{\sum_{k=2}^{\infty} (1-\beta+k\beta)(k-1)k^n a_k b_k z^k}{(2\alpha-2)z + \sum_{k=2}^{\infty} (1-\beta+k\beta)(2\alpha-1-k)k^n a_k b_k z^k} \right|
\end{aligned}$$

The last expression is bounded above by 1 if

$$\sum_{k=2}^{\infty} (1-\beta+k\beta)(k-1)k^n a_k b_k \leq (2\alpha-2) + \sum_{k=2}^{\infty} (1-\beta+k\beta)(2\alpha-1-k)k^n a_k b_k$$

Which is equivalent to the condition (4). This completes the proof of the theorem.

Finally, we note that the assertion (4) of Theorem 2.1 is sharp, the external function being

$$f(z) = z + \frac{(\alpha-1)}{[(k-\alpha)(1-\beta+k\beta)]k^n b_k} z^k.$$

Corollary 2.2 Let the function $f(z)$ defined by (2) belong to the class $\mathcal{A}_g^*(n, \alpha, \beta)$ then

$$a_k \leq \frac{(\alpha-1)}{[(k-\alpha)(1-\beta+k\beta)]k^n b_k}, \quad (k \geq 2).$$

Theorem 2.2 Let $1 < \alpha_2 \leq \alpha_1 \leq \frac{4}{3}$, $n \in \mathbb{N}$ and $0 \leq \beta \leq 1$ then

$$\mathcal{A}_g^*(n, \alpha_1, \beta) \supseteq \mathcal{A}_g^*(n, \alpha_2, \beta).$$

Proof : Let the function $f(z)$ defined by (3) in the class $\mathcal{A}_g^*(n, \alpha_2, \beta)$. Then by the Theorem 2.1, we have

$$\sum_{k=2}^{\infty} [(k-\alpha_2)(1-\beta+k\beta)]k^n a_k b_k \leq p^n (\alpha_2 - 1)$$

consequently

$$\begin{aligned} \sum_{k=2}^{\infty} [(k-\alpha_1)(1-\beta+k\beta)]k^n a_k b_k &\leq \sum_{k=2}^{\infty} [(k-\alpha_2)(1-\beta+k\beta)]k^n a_k b_k \\ &\leq p^n (\alpha_2 - 1) \end{aligned}$$

This completes the proof of the Theorem 2.2 with the aid of the Theorem 2.1.

Theorem 2.3 For $0 \leq \beta \leq 1$, $1 < \alpha_2 \leq \alpha_1 \leq \frac{4}{3}$, $n \in \mathbb{N}$,

$$\mathcal{A}_g^*(n+1, \alpha, \beta) \subseteq \mathcal{A}_g^*(n, \alpha, \beta).$$

Proof : Let the function $f(z)$ defined by (3) be in the class $\mathcal{A}_g^*(n + 1, \alpha, \beta)$. Then by the Theorem 2.1, we have

$$\sum_{k=2}^{\infty} [(k - \alpha)(1 - \beta + k\beta)]k^{n+1}a_k b_k \leq (\alpha - 1)$$

consequently,

$$\sum_{k=2}^{\infty} [(k - \alpha)(1 - \beta + k\beta)]k^n a_k b_k \leq \sum_{k=2}^{\infty} [(k - \alpha)(1 - \beta + k\beta)]k^{n+1}a_k b_k \leq (\alpha - 1).$$

This completes the proof of Theorem 2.3 with the aid of Theorem 2.1.

3. Distortion Inequalities

In this section, we shall prove distortion theorem for the functions belonging to the class

Theorem 3.1 Let the function $f(z)$ of the form (2) be in the class $\mathcal{A}_g^*(n, \alpha, \beta)$ then $|z| = r < 1$, we have

$$|f(z)| \leq r + \frac{(\alpha - 1)r^2}{[(2 - \alpha)(1 + \beta)]2^n b_2} \tag{5}$$

and

$$|f(z)| \geq r - \frac{(\alpha - 1)r^2}{[(2 - \alpha)(1 + \beta)]2^n b_2}. \tag{6}$$

Proof. Since $(z) \in \mathcal{A}_g^*(n, \alpha, \beta)$, we apply Theorem 2.1.

$$(2 - \alpha)(1 + \beta)2^n b_2 \sum_{k=2}^{\infty} a_k \leq \sum_{k=2}^{\infty} [(k - \alpha)(1 - \beta + k\beta)]k^n a_k b_k \leq \alpha - 1.$$

Thus we have

$$\sum_{k=2}^{\infty} a_k \leq \frac{(\alpha - 1)}{[(2 - \alpha)(1 + \beta)]2^n b_2} \tag{7}$$

From (1.2) and (3.3) we obtain

$$\begin{aligned} |f(z)| &\leq |z| + |z|^2 \sum_{k=2}^{\infty} a_k \\ &\leq r + \frac{(\alpha - 1)r^2}{[(2 - \alpha)(1 + \beta)]2^n b_2} \end{aligned}$$

and

$$|f(z)| \geq r - \frac{(\alpha - 1)r^2}{[(2 - \alpha)(1 + \beta)]2^n b_2}.$$

This completes the proof of the Theorem 3.1.

Theorem 3.2 Let the function $f(z)$ of the form (2) be in the class $\mathcal{A}_g^*(n, \alpha, \beta)$ then $|z| = r < 1$, we have

$$|f'(z)| \leq 1 + \frac{(\alpha - 1)r}{[(2 - \alpha)(1 + \beta)]2^{n-1}b_2} \quad (8)$$

and

$$|f'(z)| \geq 1 - \frac{(\alpha - 1)r}{[(2 - \alpha)(1 + \beta)]2^{n-1}b_2}. \quad (9)$$

The equalities in (8) and (9) are attained for the function $f(z)$ given by

$$|f(z)| \leq z + \frac{(\alpha - 1)z^2}{[(2 - \alpha)(1 + \beta)]2^n b_2}.$$

Proof. We have

$$|f'(z)| \leq 1 + \sum_{k=2}^{\infty} k a_k |z|^{k-1} \leq 1 + r \sum_{k=2}^{\infty} k a_k$$

Since $f(z) \in \mathcal{A}_g^*(n, \alpha, \beta)$, we have

$$(2 - \alpha)(1 + \beta)2^{n-1}b_2 \sum_{k=2}^{\infty} k a_k \leq \sum_{k=2}^{\infty} [(k - \alpha)(1 - \beta + k\beta)]k^n a_k b_k \leq \alpha - 1$$

Thus we have

$$\sum_{k=2}^{\infty} k a_k \leq \frac{(\alpha - 1)}{[(2 - \alpha)(1 + \beta)]2^{n-1}b_2}$$

hence

$$|f'(z)| \leq 1 + \frac{(\alpha - 1)r}{[(2 - \alpha)(1 + \beta)]2^{n-1}b_2}.$$

4. Extreme Points

Theorem 4.1 Let $f(z) = z$ and

$$f_k(z) = z + \frac{(\alpha - 1)}{[(k - \alpha)(1 - \beta + k\beta)]k^n b_k} z^k$$

$$\left(b_k \geq 0, 0 \leq \beta \leq 1, 1 \leq \alpha < \frac{4}{3}, n \in N \right),$$

Then $f(z) \in \mathcal{A}_g^*(n, \alpha, \beta)$ if and only if it can be expressed in the following form :

$$f(z) = \sum_{k=1}^{\infty} \lambda_k f_k(z),$$

where $\lambda_k \geq 0$ and $\sum_{k=1}^{\infty} \lambda_k = 1$.

Proof. Suppose that

$$f(z) = \sum_{k=1}^{\infty} \lambda_k f_k(z) = z + \sum_{k=2}^{\infty} \lambda_k \frac{(\alpha - 1)}{[(k - \alpha)(1 - \beta + k\beta)]k^n b_k} z^k.$$

Then from Theorem 2.1, we have

$$\sum_{k=2}^{\infty} [(k - \alpha)(1 - \beta + k\beta)]k^n b_k \lambda_k \frac{(\alpha - 1)}{[(k - \alpha)(1 - \beta + k\beta)]k^n b_k} b_k$$

$$= \sum_{k=2}^{\infty} (\alpha - 1)\lambda_k = (1 - \lambda_1)(\alpha - 1) \leq (\alpha - 1).$$

Thus, in view of Theorem 2.1, we find that $f(z) \in \mathcal{A}_g^*(n, \alpha, \beta)$.

Conversely, suppose that $f(z) \in \mathcal{A}_g^*(n, \alpha, \beta)$. Then, since

$$a_k \leq \frac{(\alpha - 1)}{[(k - \alpha)(1 - \beta + k\beta)]k^n b_k},$$

we may set

$$\lambda_k = \frac{[(k - \alpha)(1 - \beta + k\beta)]k^n b_k}{(\alpha - 1)} a_k$$

and

$$\lambda_1 = 1 - \sum_{k=2}^{\infty} \lambda_k.$$

Thus, clearly, we have

$$f(z) = \sum_{k=1}^{\infty} \lambda_k f_k(z).$$

This completes the proof of theorem.

Corollary 4.2 The extreme points of the class $\mathcal{A}_g^*(n, \alpha, \beta)$ are given by

$$f_1(z) = z$$

and

$$f_k(z) = z + \frac{(\alpha - 1)}{[(k - \alpha)(1 - \beta + k\beta)]k^n b_k} z^k, \quad (k \geq 2). \quad (10)$$

Theorem 4.3 The class $\mathcal{A}_g^*(n, \alpha, \beta)$ is a convex set.

Proof : Suppose that each of the functions $f_i(z)$, ($i = 1, 2$) given by

$$f_i(z) = z + \sum_{k=2}^{\infty} a_{k,i} z^k, \quad (a_{k,i} \geq 0)$$

is in the class $\mathcal{A}_g^*(n, \alpha, \beta)$. It is sufficient to show that the function $g(z)$ defined by

$$g(z) = \eta f_1(z) + (1 - \eta) f_2(z), \quad (0 \leq \eta < 1)$$

is also in the class $\mathcal{A}_g^*(n, \alpha, \beta)$. Since

$$\begin{aligned} g(z) &= \eta \left(z + \sum_{k=2}^{\infty} a_{k,1} z^k \right) + (1 - \eta) \left(z + \sum_{k=2}^{\infty} a_{k,2} z^k \right) \\ &= z + \sum_{k=2}^{\infty} [\eta a_{k,1} + (1 - \eta) a_{k,2}] z^k \end{aligned}$$

with the aid of Theorem 2.1, we have

$$\begin{aligned} &\sum_{k=2}^{\infty} (k - \alpha)(1 - \beta + k\beta) k^n [\eta a_{k,1} + (1 - \eta) a_{k,2}] b_k \\ &= \eta \sum_{k=2p+1}^{\infty} [(k - \alpha)(1 - \beta + k\beta)] k^n a_{k,1} b_k + (1 \\ &\quad - \eta) \sum_{k=2p+1}^{\infty} [(k - \alpha)(1 - \beta + k\beta)] k^n a_{k,2} b_k \end{aligned}$$

$$\leq \eta(\alpha - 1) + (1 - \eta)(\alpha - 1) = (\alpha - 1).$$

Which completes the proof of the theorem.

5. Integral Means Inequalities

In 1925, Littlewood prove the following subordination theorem.

Theorem 5.1 (Littlewood [10]) If f and g are analytic in U with $f < g$, then for $\mu > 0$ and

$$z = re^{i\theta} \quad (0 < r < 1)$$

$$\int_0^{2\pi} |f(z)|^\mu d\theta \leq \int_0^{2\pi} |g(z)|^\mu d\theta.$$

We will make use of Theorem 5.1 to prove

Theorem 5.2 Let $f(z) \in \mathcal{A}_g^*(n, \alpha, \beta)$ and $f_k(z)$ is defined by (10). If there exist an analytic function $w(z)$ given by

$$[w(z)]^{k-p} = \frac{[(k - \alpha)(1 - \beta + k\beta)]k^n b_k}{(\alpha - 1)} \sum_{k=2}^{\infty} a_k z^{k-1},$$

then for $z = re^{i\theta}$ ($0 < r < 1$)

$$\int_0^{2\pi} |f(re^{i\theta})|^\mu d\theta \leq \int_0^{2\pi} |g(re^{i\theta})|^\mu d\theta. \quad (\mu > 0).$$

Proof . We must show that

$$\int_0^{2\pi} \left| 1 + \sum_{k=2}^{\infty} a_k z^{k-1} \right|^\mu d\theta \leq \int_0^{2\pi} \left| 1 + \frac{(\alpha - 1)}{[(k - \alpha)(1 - \beta + k\beta)]k^n b_k} z^{k-1} \right|^\mu d\theta.$$

By applying Littlewood's subordination theorem, it would suffice to show that

$$1 + \sum_{k=2}^{\infty} a_k z^{k-1} < 1 + \frac{(\alpha - 1)}{[(k - \alpha)(1 - \beta + k\beta)]k^n b_k} z^{k-1}.$$

By setting

$$1 + \sum_{k=2}^{\infty} a_k z^{k-1} = 1 + \frac{(\alpha - 1)}{[(k - \alpha)(1 - \beta + k\beta)]k^n b_k} [w(z)]^{k-1},$$

we find that

$$[w(z)]^{k-1} = \frac{[(k - \alpha)(1 - \beta + k\beta)]k^n b_k}{(\alpha - 1)} \sum_{k=2}^{\infty} a_k z^{k-1}$$

which readily yields $w(0) = 0$.

Furthermore, using (4) we obtain

$$\begin{aligned}
|w(z)|^{k-1} &\leq \left| \frac{[(k-\alpha)(1-\beta+k\beta)]k^n b_k}{(\alpha-1)} \sum_{k=2}^{\infty} a_k z^{k-1} \right| \\
&\leq \frac{[(k-\alpha)(1-\beta+k\beta)]k^n b_k}{(\alpha-1)} \sum_{k=2}^{\infty} a_k |z|^{k-1} \\
&\leq |z|^{k-1} < 1
\end{aligned}$$

This completes the proof of the theorem.

References

- [1] Bharati, R., Parvatham, R. and Swaminathan, A. (1997). On subclass of uniformly convex functions and corresponding class of starlike functions, Tamkang J. Math. 28, 17-32.
- [2] Dixit, K.K. and Dubey, S.K. (2009). A new class of Salagean-type analytic functions, Ultra Scientist vol. 21(1) M, 147-156.
- [3] Dixit, K.K. and Pathak, A.L. (2009). A new class of analytic functions defined by Salagean operator, Bull. Cal. Math. Soc., 101(2), 123-136.
- [4] Dixit, K.K. and Pandey Pradeep (2007). Uniformly convex functions and the corresponding class of starlike functions Defined by fractional integral, Ultra Scientist vol. 19(1) M, 183-190.
- [5] Dixit, K.K. and Porwal Saurabh (2008). On a certain class of k-uniformly convex functions with negative coefficients, Bull. Cal. Math. Soc., 100(6), 639-652.
- [6] Dixit, K.K., Porwal Saurabh and Dixit, Ankit (2013). A new of univalent function with positive coefficient, Bessel J. Math., 3(2), 125-135.
- [7] Dixit, K.K. and Vikas Chandra (2008). A certain subclass of uniformly convex and starlike functions with negative coefficients, J. Rajasthan Acad. Phy. Sci., vol 7(4), 409-420.
- [8] Dixit, K.K. and Vikas Chandra (2008). On subclass of univalent function with positive coefficient, The Aligarh Bull. Math., 27(2), 87-93.
- [9] Gupta, V.P. and Jain, P.K. (1976). Certain classes of univalent functions with negative coefficients 2, Bull. Austral. Math. Soc. 15, 467-473.
- [10] Littlewood, J.E. (1925). On inequalities in the theory of functions, Proc. London Math. Soc. 23, 481-519.
- [11] Murugusundaramoorthy, G. (1994). Studies on classes of analytic functions with negative coefficients, Thesis, University of Madras, India.
- [12] Padmanabhan, K.S. and Ganesan, M.S. (1988). Convolution of certain classes of univalent functions with negative coefficients, Indan J. Pure appl. Math. 19, 880-889.

- [13] Porwal, S. and dixit, K.K. (2010). An application of certain convolution operator involving hypergeometric functions, *J. Rajasthan Acad. Phy. Sci.*, vol 9(2),173-186.
- [14] Salagean, G.S. (1983). Subclass of univalent function, *Lecture Note in Mathematics*, Springer-Verlag 1013, 362-372.
- [15] Sekine, T. (1991). A generalization of certain class of analytic functions with negative coefficients, *Math. Japonica*,36(1), 13-19.
- [16] Silverman, H. (1975). Univalent function with negative coefficients, *Proc. Amer. Math. Soc.*, 51, 109-116.
- [17] Srivastava, H.M. and Owa, S. (1986). A new class of analytic functions with negative coefficients, *Commentarii Mathematici Universitatis Sancti Pauli* 35(2),175-188.
- [18] Srivastava, H.M., Patel, J. and Sahoo, P. (2001). Some families of analytic functions with negative coefficients, *Math. Slovaca*, 51(4) 421-439.
- [19] Uralegaddi, B. A. Ganigi, M. D. and Sarangi, S. M. (1994). Univalent functions with positive coefficients, *Tamkang Journal of Mathematics*, vol. 25, no. 3, pp. 225-230.